Antwoorden groep 7 blok 4 blad 1 (13)

1 9 +43 =52 jaar

2 81 planten

3 140 groene tennisballen

4 110 en 90 pennen

5 f. 16,64

6 43 +38+51=132:3=f. 44,-

- 20 literis 40 % 5 literis 10 %
Er gaat 50 liter water in een volle bak.

8 2 500 : 125 = 20 gehaktballen

9 2 200 en 1 800 passagiers

10 45 x 34 =1 530 kilo




Antwoorden groep 7 blok 4 blad 2 (14)

1

600 eieren
2 Hij betaalt f. 380,-
3 Hij houdt 8 mango’s over.
4 1 200 postzegels
S 1260 mensen
6 80 flessen
7 91 knikkers
8 320 + 65 = 385 containers
9 20 stickers
10 f. 40,-




